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Question Number : 1 Question Id : 7715134136 Question Type : MCQ Option snurriing : NO
Correct Marks : 1 Wrong Marks : 0.33000001311302185

10 ppm P! AT Jw1e g (digue) QrRaaedafd. .. ...
A Permissible Exposure Limit (PEL) of 10 ppm indicates that

a. IHTEUER S 10 YR oY T gHI, Tl aafdk o1 9 o o fo i g |
10 parts per million of this substance in the air is enough to kill a person
b. T H I UEH & 10 YA U ARG g1, WY GO o foll YRIE &
10 parts per million of this substance in the water is safe for the average adult
. PR A U 0% e o foiT 9 T o7 i i Y ITed, 1@ fad
dfiue 9¢, WICRS W40 RGBT 10 ppm B
The maximum allowable workplace air exposure to this substance for an adult worker
for 8 hours a day, 40 hours a week, for a year is 10 ppm
d.  PRTH U UM, W 0 S o (U 3g Ter o Wien e ag
IR, Wi us ¥, 16 TaE o s ¥, War slieard o v 10 ppm 8
The maximum allowable workplace air exposure to this substance for an average
healthy adult worker for 8 hours a day, 40 hours a week, for a working lifetime is 10 ppm
Options :
1.a
2.b
3.C
4.d

Question Number : 1 Question Id : 7715134136 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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10 ppm P! AT Jw1e g (digue) QrRaaedafd. .. ...
A Permissible Exposure Limit (PEL) of 10 ppm indicates that

a. IHTEUER S 10 YR oY T gHI, Tl aafdk o1 9 o o fo i g |

10 parts per million of this substance in the air is enough to kill a person

b. T H I UEH & 10 YA U ARG g1, WY GO o foll YRIE &

10 parts per million of this substance in the water is safe for the average adult

c. DI A U I DG o (oY 39 ver o1 Wi fiiedd I IBed, 1@ i
dfiue 9¢, WICRS W40 RGBT 10 ppm B

The maximum allowable workplace air exposure to this substance for an adult worker
for 8 hours a day, 40 hours a week, for a year is 10 ppm

d. DR U U, O T O & o 39 Ter & Wien Hfimad ag
JBMEA, W feAd v s ¥, U0 TaR & fauao ¥, R ow Slaord & 10 ppm 8
The maximum allowable workplace air exposure to this substance for an average
healthy adult worker for 8 hours a day, 40 hours a week, for a working lifetime is 10 ppm

Options :
1.a
2.b
3.c
4.d

Question Number : 2 Question Id : 7715134137 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

T WYRUIE: Fgad Uid 90 @1 Yod g a0HE R @A @ 87
What is the temperature at which the most commonly used YELLOW colour sprinkler works?

d. 03°C b 792€ c.68°C d.579¢

Options :
1.a
2.b
3.c
4.d

Question Number : 2 Question Id : 7715134137 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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T WYRUIE: Fgad Uid 90 @1 Yod g a0HE R @A @ 87
What is the temperature at which the most commonly used YELLOW colour sprinkler works?

d. 03°C b 702G c.68°C d.579¢

Options :
1.a
2.b
3.c
4.d

Question Number : 3 Question Id : 7715134138 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

HAHG SIRGH edidd do-id &1 UgaH o1l

Identify the Quantitative risk assessment technique.

a. UBUISUFMEA b. Y% 94 fa%eIN0/Fault Tree Analysis
c. TUWHAZOP d. ® 3B fd¥e¥0/What if analysis

Options :
1.a
2.b
3.c
4.d

Question Number : 3 Question Id : 7715134138 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

A SGH qedid ddid 1 Uga &l

Identify the Quantitative risk assessment technique.

a. UBUASUFMEA b. Y% 94 fd%civU/Fault Tree Analysis
c. TUWHAZOP d. ®C 30 faeioy/What if analysis

Options :
1.a
2.b
3.C
4.d
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Question Number : 4 Question Id : 7715134139 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

U TEIeH & GRE d¢ &7 9ol vaoRia ded Madenad A dH-o S gH @
L ) e @l Il &l

An area in which a flammable atmosphere is likely to be present periodically or occasionally
during normal operation is called as

a. Hgd 0/Zone 0 b. HSd 1/Zone | c. H8d 2/Zone 2 d. #Sd 3/Zone 3

Options :
1.a
2.b
3.c
4.d

Question Number : 4 Question Id : 7715134139 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

YW TR & GRF 98 &9 o waoRid aigesd Hedetas @1 ool Jud g @
s Hel oIl 2

An area in which a flammable atmosphere is likely to be present periodically or occasionally
during normal operation is called as

a. Hsd 0/Zone 0 b. ST 1/Zone | c. Hgd 2/Zone 2 d. Hgd 3/Zone 3

Options :
1.a
2.b
3.C
4.d

Question Number : 5 Question Id : 7715134140 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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7

yioRfde I8 Wi & T v A @ o ¥ Uy L

For an Anti- static grade flooring, resistance of the floor surface to earth must be

o o P

d. 50x 106 3M ¥ HfIP/Greater than 50 x 106 ohms

Options :
1.a
2.b
3.C
4.d

50x 103TYT 2 x 105 3 & dd/Between 50 x 103and 2 x 106 ohms
50x 103 AW ¥ ®H/Less than 50 x 103 ohms
50 x 10671 2x 10° M & aid/Between 50 x 108and 2 x 10° ohms

GET IT ON
Google Play

Question Number : 5 Question Id : 7715134140 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

v I8 Wil & U Y wd @ o ¥ uRRy L

For an Anti- static grade flooring, resistance of the floor surface to earth must be

o o @

d. 50x 1063 ¥ fP/Greater than 50 x 106 ohms

Options :
1.a
2.b
3.c
4.d

50X 103U 2x 106 3fH & dd/Between 50 x 103and 2 x 106 ohms
50x 103 A T ®H/Less than 50 x 103 ohms
50x 105U 2x 10° M & dd/Between 50 x 105and 2 x 10° ohms

Question Number : 6 Question Id : 7715134141 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Yo T @1 TR e ...

The ST unit of kinematic viscosity is:

a, Pas

Options :

b, m¥s

¢. Wel/poise

d.kg. m
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1.a
2.b
3.c
4.d

Question Number : 6 Question Id : 7715134141 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

om0 I ?

The STunit of kinematic viscosity is:

a. Pas b. m’/s ¢. Wlsi/poise d.kg.m

Options :
1.a
2.b
3.c
4.d

Question Number : 7 Question Id : 7715134142 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Gl S B 9UNMid H Wwded & fOU 59 GRI SM9%Ud AR W a9 ¢ @ A d9AM @l
fou Tt ¥ aftid fbw o1 g g2

Which term describes the lowest temperature at which a liquid gives off enough vapor to ignite in
the presence of an open flame?

a. wdqid/Fire point

b. ¥dd:wde dIUH/Auto ignition temperature
k. ®UD/Boiling point
d.

Y /Flash point
Options :
1.a
2.b
3.c
4.d

Question Number : 7 Question Id : 7715134142 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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el Sl @ 9Nl # wded & foU 59 GRI1 SM9%Ad AR W a9 ¢ @ AW d9AM @l
fod 9t ¥ aftld foa 91 g g2

Which term describes the lowest temperature at which a liquid gives off enough vapor to ignite in
the presence of an open flame?

a. wdqid/Fire point

b. ¥dd:wde dIUH/Auto ignition temperature
k. ®UD/Boiling point
d.

Y /Flash point
Options :
1.a
2.b
3.c
4.d

Question Number : 8 Question Id : 7715134143 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

"G TIAORU" ¢ BRdl 87
What does a "ground fault relay” do?

a. dicedl J=dgd @1 HiHle/Monitors voltage fluctuations

b. JUYGd FHul B ATGH/Measures energy consumption

c. gl URIST BT UGS Ul A TS Bl URH AT
Detects imbalanced currents and initiates tripping

d. idd e &1 HEA0IRegulates power factor

Options :
1.a
2.b
3.C
4.d

Question Number : 8 Question Id : 7715134143 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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"GN HIAORU" ¢ Bl 87
What does a "ground fault relay” do?

a. dlcedl g B Hiled/Monitors voltage fluctuations
. SUYE Fel P HUA/Measures energy consumption
c. e YRS BT TG qUT Y WS Bl URY B
Detects imbalanced currents and initiates tripping
d. i uid &1 FEA0IRegulates power factor

Options :
1.a
2.b
3.C
4.d

Question Number : 9 Question Id : 7715134144 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

figed Q & fow tu o1 fafly @/ S &1 fafky = § 28 @1 9 & W, 39 R qur g
a1 F R L Bl

The specific speed of a pump is S for a discharge Q. By increasing the specific speed to 25, the
discharge with same head and rotational speed is:

a. Q2 b. V20 . QA2 d. 4Q
Options :
1.a
2.b
3.C
4.d

Question Number : 9 Question Id : 7715134144 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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figol Q & forw du o1 fafy @1 S 31 TR o d 28 &1 o 7 ), @ R aur g
& fow fowel ... gl

The specific speed of a pump is S for a discharge Q. By increasing the specific speed to 28, the
discharge with same head and rotational speed is:

a. Q2 b.v/2Q ¢. QN2 d. 4Q
Options :
1.a
2.b
3.c
4.d

Question Number : 10 Question Id : 7715134145 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
St FARAl # o e &1 wufie foaafy @ 82

What is the primary mechanism of fire spread in a high-rise building?

a. dIt/Conduction
b. ¥dg/Convection
c. fdfdu/Radiation
d. TU/Expansion

Options :
1.a
2.b
3.cC
4.d

Question Number : 10 Question Id : 7715134145 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
St FARAl # o e &1 wufie foaafy @ g2

What is the primary mechanism of fire spread in a high-rise building?

a. dIt/Conduction
b. ¥dg/Convection
c. fdfdu/Radiation
d. TU/Expansion

Options :
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1.a
2.b
3.c
4.d

Question Number : 11 Question Id : 7715134146 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

" AR ol & 59 & & IR TaY S g2

The "ozone hole" is most prominent over which region of the Earth?

a. G4l 3FRI®/North America
b. TRIU/Europe

c. T=Tiédl/Antarctica

d. 3t/ Africa

Options:
1.a
2.b
3.¢
4.d

Question Number : 11 Question Id : 7715134146 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

" AR gl & B9 81 & IR TaU AHEE g7

The "ozone hole" is most prominent over which region of the Earth?

a. Gdl 3FRI®I/North America
b. ZAU/Europe

¢. U=IfddI/Antarctica

d. 3fthdl/Africa

Options :
1.a
2.b
3.cC
4.d

Question Number : 12 Question Id : 7715134147 Question Type : MCQ Option Shuffling : No
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Correct Marks : 1 Wrong Marks : 0.33000001311302185

fe7 1 1GWI0 70 SR 0 G 1 @ 36 @l WRA R 9 @ B’ W IR T
o T &1 °C'W 100N @ W SRR R o ¢1 VR B W v & a1 v

A beam of negligible mass s hinged at support *A” and has a roller support at ‘B’ as shown in
figure. A concentrated load of 100 N 1s applied at ‘C". The magnitude of the reaction force
support B is;

A
V A
4 g :
4 b 3
100N ﬁB \
C
a. 20N b. 100N ¢. 0N d. 300N
Options :
1.a
2.b
3.c
4.d

Question Number : 12 Question Id : 7715134147 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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fe7 9 T T SRR 0 G 9 W & 9 WRA W i a0 B W AR T
o0 T8O 100N @1 Whlsd SR [ O ¢ R B W Wl & &1 U

A beam of negligible mass 15 hinged at support ‘A" and has a roller support at ‘B’ as shown in
figure. A concentrated load of 100 N 15 applied at °C". The magnitude of the reaction force af
support B s;

A
V A
4 8 /
< b4 b
100N <R Y
C
a. 200N b. 100N ¢. 30N d. 300N
Options :
1.a
2.b
3.c
4.d

Question Number : 13 Question Id : 7715134148 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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Fg d ¥ vl @t sooeiadr 9 & 9ed Fee $H-91 82
Which of the following is closest to the flammability range of LPG?

a. 2% Uito 15% b.4%Wto75%  ¢.2%Tto8%  d. 2% to 75%
Options :
1.a
2.b
3.C
4.d

Question Number : 13 Question Id : 7715134148 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Fg o 9 vl @ sqoeiad 99 & Fe Fee ol &2
Which of the following is closest to the flammability range of LPG?

a. 2% Yito 15% b.4%Wto75%  ¢.2%Tto8%  d. 2% U/to 75%
Options :
1.a
2.b
3.C
4.d

Question Number : 14 Question Id : 7715134149 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

............... T8 W 8, e oRU o 4 71 oU@d v ol dodl ol

A chemical that may lead to birth defects or developmental malformations is called:

a. SWRddoH/Mutagen b. d-ReH/Carcinogen
c. fd®USF/Teratogen d. Jeio/Lritants
Options :
1.a
2.b
3.¢

4.d
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Question Number : 14 Question Id : 7715134149 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

............... T8 WA §, ofid SRU oF ¢ O pM@d oea & T 8l

A chemical that may lead to birth defects or developmental malformations is called:

a. SUNGcaH/ Mutagen b. $=IReH/Carcinogen
c. fd®USF/Teratogen d. Jeio/Lrritants

Options:
1.a
2.b
3.C
4.d

Question Number : 15 Question Id : 7715134150 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

7kW, 10 o &1 fagqa aus @i 3 e & fou fw o fooa o 81 ot & aome (oc) §
¢ &1 tRoed @il 7F o & 9 fagqd ol oFlt & T & H TR 81 a @I a9 &
(Cp), 4.2 kI/kg K Bl

A 7 kW, 10 litre electrical heater is switched on for 3 minutes. Calculate the increase in water

temperature (°C). Assume all the electrical energy has gone into heating the water. Heat capacity
(Cp) of water as 4.2 kJ/kg K.

a. 15°C 0.25°%C C. Yo d.20.°C

Options :
1.a
2.b
3.c
4.d

Question Number : 15 Question Id : 7715134150 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap

Addal2i7

7kWw, 10 feiex @1 fagqd aus &t 3 e & fou fgg o four ol 81 o & e (°C) |
gi& &1 tRoad @il o9 o & 9 faggd ool ol & T & ¥ TR 81 @ @I a0 &
(Cp), 4.2 kI/kg K Bl

A 7 kW, 10 litre electrical heater is switched on for 3 minutes. Calculate the increase in water

temperature (°C). Assume all the electrical energy has gone info heating the water. Heat capacity
(Cp) of water as 4.2 kJ/kg K.

a. 15°C b.25%C ¢.30°C d.20°C

Options :
1.a
2.b
3.C
4.d

Question Number : 16 Question Id : 7715134151 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

0 PiHe @ TGN ¥ I8 § 99 B! 9iid Saa of-3add] anvi, Fefiied § 9
f5g TOR & U0 SUY & 36N 82

Using job-rotation schedules that limit the amount of time an individual worker is exposed to a
substance comes under which type of the following control measures?

a. WIdRIT/Substitution b. F=BTE/Elimination
c. gulligNT AU/ Engineering control  d. WXINH® AU Administrative control

Options :
1.a
2.b
3.C
4.d

Question Number : 16 Question Id : 7715134151 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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TS FIHe o1 TGN ¥ @G 3 999 &) Wi SHa er-dd] o, Fafafed | ¥
9 TOR & FiAv Suy & A9 87

Using job-rotation schedules that limit the amount of time an individual worker is exposed to a
substance comes under which type of the following control measures?

a. UIdRITH/Substitution b. P RH/Elimination
c. TolUR (UAU/Engineering control  d. WIS A Administrative control

Options :
1.a
2.b
3.c
4.d

Question Number : 17 Question Id : 7715134152 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

fafefea # sl R om-w 87
Which of the following are non-Newtonian Fluids?

a. o/ Water b. Te@igia/Alcohol
c. TUc/Paint d. Iude A8 r i 7/ None of the above
Options :
1.a
2.b
3.¢C
4.d

Question Number : 17 Question Id : 7715134152 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

faffea o orgeft Ra eH-W 37
Which of the following are non-Newtonian Fluids?

a. o/ Water b. Ueigra/Alcohol
c. Ue/Paint d. Jude # 8 o1 i 7ENone of the above
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Options:
1.a
2.b
3.c
4.d

Question Number : 18 Question Id : 7715134153 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

DU df & WY FRGD T QUDIi IBed ....... & AW Y T THae e
&1 HRU & odl 3l

Repeated and prolonged exposure to cotton fibre may lead to an occupational disease known as:

a. Tfe@IRSilicosis b. TRaeIRR/ Asbestosis
c. SRHIRM/Byssinosis d. STHIRrg/Bagassosis
Options :
1.a
2.b
3.C
4.d

Question Number : 18 Question Id : 7715134153 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

BUN df & WY FRIGD 71 DI S@led ....... & A9 Y TH FHae e W
&1 BRU & Jodl gl

Repeated and prolonged exposure to cotton fibre may lead to an occupational disease known as:

a. ffe@IR/Silicosis b. TRaeIRr/Asbestosis
c. SRHIRByssinosis d. STIRRY/Bagassosis
Options :
1.a
2.b
3.c
4.d

Question Number : 19 Question Id : 7715134154 Question Type : MCQ Option Shuffling : No
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Correct Marks : 1 Wrong Marks : 0.33000001311302185
T 3521 e W S @ g R & orguR Syl U oad @1 0 g o g e
W WR ST .. ... H

The minimum breaking load requirement for a hook of a full body harness as per IS 3521
Industrial Safety Belts and Harnesses—Specification is;

a. 1000 fremi/kg b. 1500 fretm/kg
¢. 2000 freimi/kg d. 2500 fremkg

Options :
1.a
2.b
3.C
4.d

Question Number : 19 Question Id : 7715134154 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

33T 3521 i W e @ gHE-RFETH & oo S0l 38 Gad @1 U go & R e
AN HR 308 ....... 2

The minimum breaking load requirement for a hook of a full body harness as per IS 3521
Industrial Safety Belts and Harnesses—Specification is;

a. 1000 frem/kg b. 1500 fretm/kg
¢. 2000 frami/kg d. 2500 Mg

Options :
1.a
2.b
3.C
4.d

Question Number : 20 Question Id : 7715134155 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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o B 7 R S e Wgw & v Fefifed d 999 Suw fdd FH-H §7
Which one of the following options is most suited as the minimum required oXygen concentration
in work place?

a. 19.5% b. 10% ¢. 17.5% d. 19.0%

Options:
1.a
2.b
3.C
4.d

Question Number : 20 Question Id : 7715134155 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

o W H G Ui i Wigw & fou Fyfifed § 9e¥ 9ww fdee pH-9 82
Which one of the following options is most suited as the minimum required oxygen concentration
in work place?

a. 19.5% b. 10% ¢. 17.5% d. 19.0%

Options :
1.a
2.b
3.C
4.d

Question Number : 21 Question Id : 7715134156 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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RAD 19 TRy of GRA § 9T del fou duldie Qe Suau &1 WE A e o
hdl?

Which of this respiratory personal protective equipment cannot be used in hazardous gas
environment?

MG Piicel df/Chemical cartridge respirator
$FH%R 9 R/ Canister gas masks

Tif® fect/Mechanical filter

W 4o e ue (sl a1 ang)

Self-contained breathing apparatus (oxygen or air)

=T ST~

Options:
1.a
2.b
3.c
4.d

Question Number : 21 Question Id : 7715134156 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

RAD 19 TR0 of URA 4 ddel (o8 Julddm QRa SudRu &1 Wa ARl e o
Hebdl?

Which of this respiratory personal protective equipment cannot be used in hazardous gas
environment?

YNNG $1ew aRE/Chemical cartridge respirator
SR 9 HD/Canister gas masks

Tifid flhecUMechanical filter

d. Wil yed et Juen (SfiadieE a1 am)

Self-contained breathing apparatus (oxygen or air)

© o o

Options :
1.a
2.b
3.C
4.d

Question Number : 22 Question Id : 7715134157 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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SO0 HYdTH, 1980 F TaY .......... U

The Basel convention, 1989 is related to:

L

GRS AR 3R IUH! FUeH/Hazardous wastes and their disposal
. 3 RadidR/Ozone depletion
c. YOS FEAE (Tcled di) /Global warming

. W& H ¥ Bl ¥ Te/None of the above

Options:

=

=

1.a
2.b
3.C
4.d

Question Number : 22 Question Id : 7715134157 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

99q HYdTH, 1980 F Y .......... U

The Basel convention, 1989 is related to:

GRATD HURIY SR IS UM/ Hazardous wastes and their disposal
. WA Refi#R0/0zone depletion
. Wit FEieRU (wiled diiE) /Global warming

o o o™

d. SWa H ¥ B 1 T&/None of the above
Options :
1.a
2.b
3.C
4.d

Question Number : 23 Question Id : 7715134158 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap

Addal2417

oy ¥ Bl gU vl e () § W@ drddl §Ub # o T g1 U Gl WU 10 ppmg 3R
9ed U @ cuad-clesqy, S0ppm 8l R & FI Auad-dlesqu, 100ppm 8, a ppm ¥ o
&1 G W0 G IS § i § € B A & o MU U IWDeA SFHY g

A worker is exposed to a foxic mixfure (A+B) in air. Concentration of A is 10 ppm and TLV-
TWA of component A is 50 ppm. If TLV-TWA for B is 100 ppm, what can be the maximum
concentration of B in ppm, so that the exposure of mixture is permissible for 8 hours duration?

a. 50 UGiTH/ppm
c. 100 UiduH/ppm
Options :
1.a
2.b
3.C
4.d

b. 25 TiUiTH/ppm
d. 80 Uidum/ppm

GET IT ON
Google Play

Question Number : 23 Question Id : 7715134158 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

o ¥ el g0 TR e () ¥ S drddl GUS J o T g1 U A WsW 10 ppmE 3R
ged U I Alad-diescqy, 50 ppm 3l ¥R & $1 uedl-diesqy, 100 ppm &, @ ppm ¥ o
o1 DT FIGW T G IS § dld 8 °UC D HAY & U YW § DG T g

A worker is exposed to a toxic mixture (A+B) in air. Concentration of A is 10 ppm and TLV-
TWA of component A is 50 ppm. If TLV-TWA for B is 100 ppm, what can be the maximum
concentration of B in ppm, so that the exposure of mixture is permissible for 8 hours duration?

a. 50 UMdTA/ppm
c. 100 GdiTH/ppm

Options :
1.a
2.b
3.c
4.d

b. 25 UdiTH/ppm
d. 80 GiUiTH/ppm

Question Number : 24 Question Id : 7715134159 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap

Addal2i7

YR H HREMI Telg Td9 aul Aoy IR HRIHGUIy @1 qUied @el o7
Where is the headquarters of Directorate General, Factory Advice Service and Labour Institutes
in India?

a. Tgs/Mumbai b. feil/Delhi
c. HgHalsle/ Ahmedabad d. T0/Pune

Options :
1.a
2.b
3.C
4.d

Question Number : 24 Question Id : 7715134159 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

YRd ¥ HREMFI Telg Gd aul Teige TR FRiHGRIey @1 qEiy del o7
Where is the headquarters of Directorate General, Factory Advice Service and Labour Institutes
in India?

a. ¥gg/Mumbai b. fwil/Delhi
¢. HeHaldle/Ahmedabad d. HﬁwPune

Options :
1.a
2.b
3.c
4.d

Question Number : 25 Question Id : 7715134160 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

R WPRD oM ded AwH 300C, e dWHH 350C T [ dcd dIWE 40°C &, o o
e Tdd qAUEH BT HE e g

What is the value of Wet Bulb Globe Temperature, if the natural wet bulb temperature is 30°C,
globe temperature is 35°C and dry bulb temperature is 40°C?

2. 250C b. 30 9C c.320C d.350C

Options:


https://applink.adda247.com/d/XhqWf9lSap

Addal2i7

1.a
2.b
3.c
4.d

Question Number : 25 Question Id : 7715134160 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

R THld 3% g8 dUEH 300C, e dUdH 350C dU1 @ ded diudM 400C &, d 3%
ded T dHH BT A foa g

What is the value of Wet Bulb Globe Temperature, if the natural wet bulb temperature is 30°C,
globe temperature is 35°C and dry bulb temperature is 40°C?

i 259% b. 30 9C 6.3279¢ d.350C

Options :
1.a
2.b
3.c
4.d

Question Number : 26 Question Id : 7715134161 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Wl U F §/What is Poisson’s ratio?

. ¥fedl fapfa/mide [P / Longitudinal strain/Lateral strain

. UiH® fapl/sreed [ap / Lateral strain/Longitudinal strain

. Ui® wlga/ile APl / Lateral stress/Lateral strain

. fee] wiaae/eHce fa / Longitudinal stress/Longitudinal strain

o oo o o™

Options :
1.a
2.b
3.C
4.d

Question Number : 26 Question Id : 7715134161 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap

Addal24

7

WYl U @ &/What is Poisson’s ratio?

o oo o o

Options :
1.a
2.b
3.C
4.d

. ¥cd gl [9efd / Longitudinal strain/Lateral strain
. UiHd fapfd/sreel dp / Lateral strain/Longitudinal strain
. Uie wideq/ufie AP / Lateral stress/Lateral strain
. e nfdee/3rce fapid / Longitudinal stress/Longitudinal strain

GET IT ON
Google Play

Question Number : 27 Question Id : 7715134162 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0.33000001311302185
2o -faferam 1 o TR & TR o forw g 2

The Hazen-Williams formula is applicable to which type of fluid?

a. aq ue/Only water
¢. WdHARdTd, aHi/Both water and oil

Options :
1.a
2.b
3.c
4.d

b. Bde de/Only oil
d. T/Gases

Question Number : 27 Question Id : 7715134162 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0.33000001311302185
Bu-faferam G fobg R & v o fefu @ g2

The Hazen-Williams formula is applicable to which type of fluid?

a. ad a/Only water
c. WdR ﬁﬁ, HI/Both water and oil

Options :
1.a
2.b

b. hdd det/Only oil
d. T/Gases


https://applink.adda247.com/d/XhqWf9lSap
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3.C
4.d

Question Number : 28 Question Id : 7715134163 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

TP Wo-31uRd 3 GRem Yo H Uad 8 @ "K-ORe" g Wiaikia dedl 8

What does the "K factor" of a sprinkler nozzle in water-based fire protection system represent?

e @ Tar 9t/The nozzle's material strength
. 8 I TORUI/Elasticity of the nozzle
Worelt § Wl @1 &1a/The water pressure in the system
d. @Ts’ T o @ Udle ¢¥/The water flow rate from the nozzle

= =

Options :
1.a
2.b
3.C
4.d

Question Number : 28 Question Id : 7715134163 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

T T0-3MRa S Q&M yuell I 45 @1 "K-oRe" [l wlRite & 87

What does the "K factor" of a sprinkler nozzle in water-based fire protection system represent?

e @ Ua §t/The nozzle's material strength
. U @ URUdElasticity of the nozzle
Worelt § Wl 1 &1a/The water pressure in the system
d. @Ts’ T od @ Udlg &UThe water flow rate from the nozzle

= =

Options :
1.a
2.b
3.C
4.d

Question Number : 29 Question Id : 7715134164 Question Type : MCQ Option Shuffling : No


https://applink.adda247.com/d/XhqWf9lSap
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Correct Marks : 1 Wrong Marks : 0.33000001311302185

SIePR-2-FlieUed-3, ol Fdas o o & ®U H & &9 9 8, @ TR
......... gl oIl Bl
Dodecafluoro - 2- methylpentan - 3 one used as a clean agent fire suppressant is commonly called;

a. UHUH200/FM 200 b. Fdd 1230/Novec 1230
¢. T9o/Inergen d. fidmvITON
Options:
1.a
2.b
3.¢
4.d

Question Number : 29 Question Id : 7715134164 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

SemIRyl-2- i3, ol FHcd o o d & ®U § T 69 oI 8, Bl WURUG:
......... &gl oIl gl

Dodecafluoro - 2- methylpentan - 3 one used as a clean agent fire suppressant is commonly called;

a. UHTA200/FM 200 b. Fd® 1230/Novec 1230
¢. 3iu/Inergen d. [&&H/VITON
Options :
1.a
2.b
3.C
4.d

Question Number : 30 Question Id : 7715134165 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap

Addal2i7

1 fdg ® a0 Gided @l g, = 100 MPa, 0, = 60 MPa @ g, = 15MPa GNI e ST 8|
The state of plane stress at a point is given by

a, =100 MPa 0, = 60 MPa and ,,, = 15MPa

HfYdan H&7 Ufded (MPa) &1 Udl T0/Find the maximum principal stress (MPa).

a. 105 b. 80 E:

I
n

d: 53

Options :
1.a
2.b
3.C
4.d

Question Number : 30 Question Id : 7715134165 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

W fig ® a0 Wided @1 g, = 100 MPa, 0, = 60 MPa T 0, = 15MPa GRI AT 8|
The state of plane stress at a point is given by

g, = 100 MPa, 0, = 60 MPa and 0, = 15MPa

YA = Yfdad (MPa) @1 Udl TNU/Find the maximum principal stress (MPa).

a. 105 b. 80 c. 25 ik

Options :
1.a
2.b
3.c
4.d

Question Number : 31 Question Id : 7715134166 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap

Addal24

7

I T T ¥ IW|leT R Wa: odfad g ad Genf @l L. @l o &

Substances ignite spontaneously when exposed to air or moisture are known as..

a. %Wd: waeia/Pyrophoric

c. URRIARIeH Pyrolytic

Options :
1.a
2.b
3.C
4.d

b. UIERId®HId/Pyrotechnic
d. JuIUi-d/Pyrogenic

GET IT ON
Google Play

Question Number : 31 Question Id : 7715134166 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

I 91 T ¥ BT R Wa: Tdfed g aid Werl @ ..., @el ol &l

Substances ignite spontaneously when exposed to air or moisture are known as..

a. %d: wdaeiic/Pyrophoric

c. URIAER®/Pyrolytic

Options :
1.a
2.b
3.cC
4.d

b. UIRId@HId/Pyrotechnic
d. IATAHH/Pyrogenic

Question Number : 32 Question Id : 7715134167 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

g9eH ®is 3YE ® 3 @ Haad

a. o DgR/Water spray
¢. I ®Rd/Dry agent

Options :
1.a
2.b
3.C
4.d

%/In Hazchem code, 3YE, 3 stands for

b. BH/Foam
d. 9 $eXl/Water Fog


https://applink.adda247.com/d/XhqWf9lSap

Addal2i7

Question Number : 32 Question Id : 7715134167 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

2VH B8 3YE § 3 @ H9qd ...... #/In Hazchem code, 3YE, 3 stands for

a. od DgR/Water spray b. BIH/Foam
¢. b BR®/Dry agent d. vid DgXl/Water Fog

Options :

1.a

2.b

3.C

4.d

Question Number : 33 Question Id : 7715134168 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Ui, s aur et ........ YOR I gidi 3l
Pole, grid and catenary are types of devices
a. died FR&N/Lighting Protection b. A dlcd/Relief valve
c. WUdlg HIU-/Flow measurement d. dI9H/Temperature
Options :
1.a
2.b
3.C
4.d

Question Number : 33 Question Id : 7715134168 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

uid, Bre aur dfedt ..., TR B gkl &l

Pole, grid and catenary are types of devices
a. disd YR&/Lighting Protection b. T dicd/Relief valve
c. WUdlg HU4/Flow measurement d. dIUHH/ Temperature

Options :


https://applink.adda247.com/d/XhqWf9lSap
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1.a
2.b
3.c
4.d

Question Number : 34 Question Id : 7715134169 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
u=xlyi-xy}j o o4y W f-fadfl, spifien vare &7 fem o 81 wae . ... gl

Given a two-dimensional, incompressible flow field with velocity u = x2y i -xy?j, the flow is:

a. J%d WM I Bl R ®H R Wil/Rotational everywhere except at origin
b. & ™M W 3Y0iiImrotational everywhere

c. ®dq 3wd ¥ R YiRotational only at the origin

d. J6d WH B BleR ® WM R F0ii/Trotational everywhere except at origin

Options :
1.a
2.b
3.c
4.d

Question Number : 34 Question Id : 7715134169 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
u=xlyi-xy}j a1 H U W@ -, oRidiey ware & foun T B UAR ... Bl

Given a two-dimensional, incompressible flow field with velocity v = x%y i -xy?j, the flow is:

2. Jwd ™M B Bled R WA R Tif/Rotational everywhere except at origin
b. & ™M W 3Y0iiImrotational everywhere

c. ®dq 3wd ¥ R TiRotational only at the origin

d. J%d WM Bl Bl & ™H R HYuii/Lrotational everywhere except at origin

Options :
1.a
2.b
3.c
4.d

Question Number : 35 Question Id : 7715134170 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap

Addal2i7

?@H e feaw ... .. &I T/ W 8/The national safety day is celebrated on

a. 4Hm/4 March b. 14 ARY/14 March
c. 434 April d. 14 3fidl/ 14 April

Options:
1.a
2.b
3.c
4.d

Question Number : 35 Question Id : 7715134170 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

?@H e fay ... &I T/ Il 8/The national safety day is celebrated on

a. 4Hm/4 March b. 14 ARI/14 March
c. 434 April d. 14 3flicl/ 14 April

Options :
1.a
2.b
3.C
4.d

Question Number : 36 Question Id : 7715134171 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

15 R R Rl e B 2 L T ) O 2 A e B 6 M R R
Aited T ... 4gd 3l

A personal radiation monitoring device worn by radiation worker to monitor radiation exposure
levels is badge

a. oNGelTLD b. TisSl/LED
c. AU@dlTLV d. fRua/PEL
Options :
1.a

2.b


https://applink.adda247.com/d/XhqWf9lSap

Addal2i7

3.C
4.d

Question Number : 36 Question Id : 7715134171 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

AR SWIeT TR &1 Ae $ & o fAftww SRiddiel gR1 UgH ST daidae e
I ErRC ) d4ed gl

A personal radiation monitoring device worn by radiation worker to monitor radiation exposure
levels is badge

a. CN@eITLD b. T SI/LED
¢. dUAATLV d. fi3Ua/PEL
Options :
1.a
2.b
3.c
4.d

Question Number : 37 Question Id : 7715134172 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

HYPRE d P Bl 5, o & ......... @I Idfdd Bl gl

Lachrymators are contaminant which primarily cause irritation of the

a. fiG/Eyes b. wd1/Skin c. ©6/Throat d. 91®/Nose
Options :
1.a
2.b
3.C
4.d

Question Number : 37 Question Id : 7715134172 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap

Addal2i7

HYBR® d G9P Bld o, o TOIE ......... Bl Il Bl g

Lachrymators are contaminant which primarily cause irritation of the

a. {iG/Eyes b. @d1/Skin ¢. 3/Throat d. 91®/Nose
Options :
1.a
2.b
3.C
4.d

Question Number : 38 Question Id : 7715134173 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

TP TR €0 T UM 00 HUREE &8 &1 J9d Afdel TETW aa P 41 MPa SFHIA T
T 81 38 § HdHay AUV UiEd (MPa) fal gRin

The average horizontal shear force induced in the simply supported beam of circular cross section
1s estimated as 41 MPa. What will be the maximum shear stress in the beam (MPa)?

a. 6.5 b. 54.6 c.27.3 d.30.7
Options :
1.a
2.b
3.c
4.d

Question Number : 38 Question Id : 7715134173 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

TP TERY €0 T UM 00 HUNEE &8 &1 J9d Afdel TEUW §a P 41 MPa SFHIA fT
T 81 &8 § Hday AUV UiEd (MPa) fal gRin

The average horizontal shear force induced in the simply supported beam of circular cross section
1s estimated as 41 MPa. What will be the maximum shear stress in the beam (MPa)?

a. 6l.5 b. 54.6 c.27.3 d. 30.7

Options :
1.a
2.b


https://applink.adda247.com/d/XhqWf9lSap

Addal2i7

3.C
4.d

Question Number : 39 Question Id : 7715134174 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
ifsd 3% @ O & 9 AT &R F o Riea w9 . H

When mixing concentrated acid with water, the safe practice is to

a. o 0 4 U o M9 $YMix water into acid slowly
W qUT 3T B Sl ¥ ¥HE A H R $

Mix equal amounts of water and acid quickly
. ud H R T ot M¥T BYMix acid into water slowly
d. o/ # Wcdl § W AT HYMix water into acid quickly

Options :
1.a
2.b
3.c
4.d

Question Number : 39 Question Id : 7715134174 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
qifsd 3 @1 Od & U T FA & o wiEw w e L H

When mixing concentrated acid with water, the safe practice is to

a. o § 4R U 9 B¥d HYMix water into acid slowly
Wl U1 A Bl Wedl ¥ §HE AR A Al @

Mix equal amounts of water and acid quickly
c. ua ¥ 4R ¥ ol MBd HYMix acid into water slowly
d. o # Wedt U W Mf¥d dYMix water into acid quickly

Options :
1.a
2.b
3.cC
4.d

Question Number : 40 Question Id : 7715134175 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap

Addal2i7

U Had g fag ... @R ¥ gidl 8/A mandatory traffic signisin  shape.

a. Gu@R/Circular b. B/ Triangular
c. 3MdidR/Rectangular d. PETDOctagonal

Options:
1.a
2.b
3.C
4.d

Question Number : 40 Question Id : 7715134175 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

U6 A9 IaE g ..., AER F Bldl &/A mandatory traffic signisin  shape.

a. Jd@R/Circular b. BiIvfa/ Triangular
c. SMGdi®R/Rectangular d. &fEﬂv_cIHJDI.fOctagonal

Options :
1.a
2.b
3.C
4.d

Question Number : 41 Question Id : 7715134176 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

e fdfdwo Aid ¥ gl G o Wi 8, o weIee gR1 W fafdRor @t AL L gl ol 3l

When the distance from a radiation source is doubled, the amount of radiation received by the
operator will be

a. G[/Doubled

b. Sf¥l/Halved

c. AR W g gl & FHuldd/Directly proportional to the of the distance

d. ufddimd: g gl & siufd@/Inversely proportional to the square of the distance

Options :
1.a


https://applink.adda247.com/d/XhqWf9lSap
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2.b
3.C
4.d

Question Number : 41 Question Id : 7715134176 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

v fafeRu Eid 9 g QO 6w o €, d e gR WW Qe @ AL L g o gl
When the distance from a radiation source is doubled, the amount of radiation received by the
opetator will be

a

gH/Doubled
H¥/Halved

Bt IR R g &l & SfHuid/Directly proportional to the of the distance
. T G & & Ui Tversely proportional to the square of the distance

Options :

==

e o

1.a
2.b
3.c
4.d

Question Number : 42 Question Id : 7715134177 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

T U oY, 7= Fesy 19 & w9 A GOR T e 9 g

Which of these is not considered as a major greenhouse gas?

a. COy b. CO ¢. vdi-d%/Water vapour d. CHy
Options :
1.a
2.b
3.c
4.d

Question Number : 42 Question Id : 7715134177 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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7

T ¥ fod, 7o ey T @ ¥ H iR T fe o @

Which of these is not considered as a major greenhouse gas?

a. COp
Options :
1.a
2.b
3.c
4.d

b. CO

¢. Sldi-dIN/Water vapour

d. CH,

GET IT ON
Google Play

Question Number : 43 Question Id : 7715134178 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

uat fioRd th TaR @i 3 § @

Bird caging is a type of defect which occurs in

a6 oo

Options :
1.a
2.b
3.cC
4.d

dR IW/Wire ropes
. Tfthd ATZeH h-/Braided nylon slings
& §d/Crane hooks
Sl-pUSI/D-Shackles

Question Number : 43 Question Id : 7715134178 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

ualt fio’d th ToR @i 3 & @

Bird caging is a type of defect which occurs in

a6 o

Options :

dR IH/Wire ropes
. 7ifthd A/3dM Th-/Braided nylon slings
sh+1 §®/Crane hooks
Sl-pUsI/D-Shackles


https://applink.adda247.com/d/XhqWf9lSap
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1.a
2.b
3.c
4.d

Question Number : 44 Question Id : 7715134179 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

&2 it FelRa fagqa Suesw & sfidan get auEe ... gl

Maximum Surface Temperature of T2 class rated electrical equipment is;

a. 100°C b. 135°C c.200°C d.300°C

Options :
1.a
2.b
3.c
4.d

Question Number : 44 Question Id : 7715134179 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

o2 9ot FYiRG fgqd Sumwu &1 fodd geY duEe ... gl

Maximum Surface Temperature of T2 class rated electrical equipment is;

a. 100°C b: 135 7€ c. 200 °C d. 300 °C

Options :
1.a
2.b
3.C
4.d

Question Number : 45 Question Id : 7715134180 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap
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& A @ IRAH R Yagl ¥ Iadd SR i AU Bl ... Bel ol gl

The ratio of convective to conductive heat transfer at boundary in a fluid is known as;

a. UG TEI/Grashoff number b. Uwe TH/Nusselt number
c. WUigd d&/Prandtl number d. 9/ T&H/Biot number
Options :
1.a
2.b
3.C
4.d

Question Number : 45 Question Id : 7715134180 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

U6 WA & IR R Yagl § I SHWR S 0 Bl ... Pel o gl

The ratio of convective to conductive heat transfer at boundary in a fluid is known as;

a. TG G&AI/Grashoff number b. ¥ TWA/Nusselt number
c. WUigd d&/Prandtl number d. 9/ ¥&H/Biot number
Options :
1.a
2.b
3.C
4.d

Question Number : 46 Question Id : 7715134181 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap
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Iih WD B ...... T T O g

Lethal Dose is measured in terms of...............

a. T @1 UdeH i famm wWR R
ppm of a chemical per kg of body weight

b. THT B AEHIM U bW WR 4R
mg of a chemical per kg of body weight

c. THEA &1 AEHIM U 3FERd TR & T HX &
mg of a chemical per metre cube of area of body exposed

d. #%d 9 & Ui fieX WRH & HEHIH

microgram of a chemical per lit of air inhaled

Options :
1.a
2.b
3.cC
4.d

Question Number : 46 Question Id : 7715134181 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

D QS @ . ..... b 1 B

Lethal Dose is measured in terms of...............

a. T @1 i o awm wWR 4R
ppm of a chemical per kg of body weight

b. T @1 ABHIM Ud fFATH IR 4R
mg of a chemical per kg of body weight

c. T B AEHUM U 3FENG TR & w1 Hiew &
mg of a chemical per metre cube of area of body exposed

d. 4% 99 & WA X W G AEHIE

microgram of a chemical per lit of air inhaled

Options :
1.a
2.b
3.c
4.d

Question Number : 47 Question Id : 7715134182 Question Type : MCQ Option Shuffling : No


https://applink.adda247.com/d/XhqWf9lSap
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Correct Marks : 1 Wrong Marks : 0.33000001311302185

200 e x 100 ILH x 50 TAHIX PR @ U6 WS @I 15 MPa @ FoRfdd @9 faul
Il 81 HaH-fapld @ g, SR WS @ 20 GPa dul 0.5 W UM & I FRT T 87
A 200 cm x 100 cm x 50 cm size block is subjected to a hydro static pressure of 15 MPa. What
will be the volumetric strain if the block is made with material 20 GPa and poisson’s ratio is 0.5

a. 9 b.8.5 c.0 d. 10

Options :
1.a
2.b
3.C
4.d

Question Number : 47 Question Id : 7715134182 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

200 TR x 100 FHIEX x 50 TeHieY PR B! 0@ W @I 15 MPa & 5300 W f&a
I 81 HqH-fala @ g, oFR WS B 20 GPa dul 0.5 W UM & I T T 87
A 200 cm x 100 cm x 50 cm size block is subjected to a hydro static pressure of 15 MPa. What
will be the volumetric strain if the block is made with material 20 GPa and poisson’s ratio is 0.5

a. 9 b.8.5 c.0 d. 10

Options :
1.a
2.b
3.C
4.d

Question Number : 48 Question Id : 7715134183 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

a. WUl d¥shock wave b. JGGe/deflagration
¢. I/ detonation d. f®ict/explosion


https://applink.adda247.com/d/XhqWf9lSap
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Options:
1.a
2.b
3.c
4.d

Question Number : 48 Question Id : 7715134183 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

a. Ul dl/shock wave b. JGGe/deflagration
¢. I/ detonation d. f®ict/explosion
Options:
1.a
2.b
3.c
4.d

Question Number : 49 Question Id : 7715134184 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

G UGN (e du g ), 2000 9 SER T & GRA el 47 § oEd uRaw @

Ambient noise levels allowed in residential area during day time as per The Noise Pollution
(Regulation & Control Rules), 2000 is;

a. 75dB(A) b. 65dB(A) ¢. 50dB(A) d. 55dB(A)

Options :
1.a
2.b
3.C
4.d

Question Number : 49 Question Id : 7715134184 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap
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7

Rd g (R qun MO o), 2000 5 SFER 7 & GRMA HGHiY & # oA URaY @

Ambient noise levels allowed in residential area during day time as per The Noise Pollution
(Regulation & Control Rules), 2000 is;

a. 75dB(A)

Options :
1.a
2.b
3.c
4.d

b. 65dB(A)

¢. 50dB(A) d. 55dB(A)

GET IT ON
Google Play

Question Number : 50 Question Id : 7715134185 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Ui fdepied & wiem § fonifed Sl &1 tRoed 5q Wga Nidl SH-91 87

Which method is used for calculating energy release through a mechanical explosion?

a. Tie Y@dbid/Mond’s Index
c. §8 faul/Brode’s Method

Options :
1.a
2.b
3.c
4.d

b. 8 Uk 7 F3E qEdid/Dow F& EI Index
d. SWa # ¥ @15 4l F8/None of the above

Question Number : 50 Question Id : 7715134185 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Ui fdepied & mem T e Fai &1 tRoed 5 WgH ®idl oH-T1 €7

Which method is used for calculating energy release through a mechanical explosion?

a. Tie Y@did/Mond’s Index
c. §8 faul/Brode’s Method

Options :
1.a
2.b

b. ¥ U6 T F34E qadid/Dow F& EI Index
d. SWed ¥ ¥ @ly Al T8l/None of the above


https://applink.adda247.com/d/XhqWf9lSap
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3.C
4.d

Question Number : 51 Question Id : 7715134186 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

I ¥ Sarrg R 41 9ggd IRl & o ve fodn e sfican I & @ gl dIige?
What should be the maximum gap range to be provided for IT C flameproof enclosures or electrical
fittings?

a. 0.4 WdHR ¥ 0.3 FelHie/0.4 mm to 0.3 mm

b. 0.3 iR ¥ 0.2 frcfiieR/0.3 mm to 0.2 mm

c. 0.2 ¥ 0.4 MeliHiex/0.2 mm to 0.4mm

d. 0.10 fciiFiex § 0.2 clidiex/0.10 mm to 0.2mm

Options:
1.a
2.b
3.c
4.d

Question Number : 51 Question Id : 7715134186 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

I ¥ Sarrg R 41 9ggd 8R! & o ve fodn e sfican I & @ gl dIige?
What should be the maximum gap range to be provided for IT C flameproof enclosures or electrical
fittings?

a. 0.4 iR ¥ 03 frciic0.4 mm to 0.3 mm

b. 03 iR ¥ 0.2 frcfiieR/0.3 mm to 0.2 mm
0.2 fercfidieR § 0.4 fAi¥ieR/0.2 mm to 0.4mm
d. 0.10 firefieiiex @ 0.2 fciidiex/0.10 mm to 0.2mm

Options :

L]

1.a
2.b
3.¢C
4.d

Question Number : 52 Question Id : 7715134187 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap
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it | (&l j fF-Sis! @1 9em 8, ¢ SR It g § IR R AP @ 3
den ) f-dis ou & fou Fefafed § @ w8

Which of the following is true for pin-jointed truss which is statically determinate (where j is the
number of pin joints, r is the number of rods, & R is the minimum number of reacting forces)?

a. 2j=r+R by2j =1t R e 2j<r+R d.2R=j+r

Options:
1.a
2.b
3.C
4.d

Question Number : 52 Question Id : 7715134187 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

it wiita (6! j fF-Sie! @t 9em 8, ¢ o ot 9 @ IR R A @ 3 e
de §) fa-uls ov & fou Fefied 4 @ gl 82

Which of the following is true for pin-jointed truss which is statically determinate (where j is the
number of pin joints, r is the number of rods, & R is the minimum number of reacting forces)?

a. 2j=r+R bedj=rt R e 2j<p+R d2R=j+r

Options :
1.a
2.b
3.C
4.d

Question Number : 53 Question Id : 7715134188 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Uoiford M, 2002 & 39R 907 &f oo &a & a0 @ ... .. 3l

As per Petroleum Rules, 2002, flash point of class B Flammable liquids is;

a. 23°CTYU & 65°C sid/Between 23 °C and 65 °C

b. 93°CH BH W 65°C ¥ HUYBelow 93 °C but above 65 °C
c. 23°C ¥ FHBelow 23 °C

d. 13°CTU & 32°C d/Between 13 °C and 32 °C


https://applink.adda247.com/d/XhqWf9lSap
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Options:
1.a
2.b
3.c
4.d

Question Number : 53 Question Id : 7715134188 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Uoiford M, 2002 & 39R 907 &f oo &a & a0 @ ... .. 3l

As per Petroleum Rules, 2002, flash point of class B Flammable liquids is;

23°C U & 65°C sd/Between 23 °C and 65 °C

03°C ¥ $F W 65°C ¥ FW/Below 93 °C but above 65 °C
23 oC ¥ FHBelow 23 °C

13°C U & 32°C dfd/Between 13 °C and 32 °C

o o oo

Options :
1.a
2.b
3.c
4.d

Question Number : 54 Question Id : 7715134189 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

& figelt & 4 o wlieRn aF] o ® Pl § oH-a age an g

When applying Bernoulli's equation between two points, which of the following assumptions are
applicable:

oo

. @R WarE/Steady flow
3UIST YA/ Incompressible flow

c. WU & BRU BIy Holl ¥ TelNo energy losses due to friction
. SWdd GVl of the above

Options :

==

=

1.a
2.b
3.c
4.d


https://applink.adda247.com/d/XhqWf9lSap
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Question Number : 54 Question Id : 7715134189 Question Type : MCQ Option >nurriing : NO
Correct Marks : 1 Wrong Marks : 0.33000001311302185

ol figalt & d wid oo a o R FeffEd § eH-a e ] g

When applying Bernoulli's equation between two points, which of the following assumptions are
applicable:

oo

. TR waE/Steady flow
3l TdTg/Incompressible flow

c. U4UI & BRU Pl3 Foll 319 TelNo energy losses due to friction
. 30a @l of the above

Options:

(=2

[

1.a
2.b
3.c
4.d

Question Number : 55 Question Id : 7715134190 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

T 2016 TR 50 A 4 i eerd NG 91 Vel o fou ot vaet
Bl o & w0 1 Fiigd ba gl

As per NBC 2016, buildings used for recreation or exhibition designed for a capacity of
more than 50 persons is classified as;

2. TUGoupA  b.dGroupB ¢ GroupD 4. 70 §/Group E

Options :
1.a
2.b
3.C
4.d

Question Number : 55 Question Id : 7715134190 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap
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TN 20166 TR 50 AT 8 iV eard TNGH 91 Ved & fow et waet
Bl & ©0 4 diipd fou gl

As per NBC 2016, buildings used for recreation or exhibition designed for a capacity of
more than 50 persons is classified as;

a. TUGpA  b.dGoupB ¢ EGroupD .70 3/GroupE

Options :
1.a
2.b
3.c
4.d

Question Number : 56 Question Id : 7715134191 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

g fifiey |, 2016 ER U6 ORW ¥ fifdex ¥ wiifsd 79 & YR §q ey & fu
3ed Hfiddy BmEy ... gl

Maximum time period for the license that can be granted for storage of compressed gas in cylinders
at a premise as per the Gas Cylinder Rules, 2016 is;

a. 5dy/5 years b.7d%/7years  c. 10@W10years  d.3dW/3 years

Options :
1.a
2.b
3.cC
4.d

Question Number : 56 Question Id : 7715134191 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Ty fifdiey |, 2016 SFER U6 ORW H fifdex ¥ wiifsa 79 & YeR §q aReyg & fu
3ed Hfiddy BmEy ... gl

Maximum time period for the license that can be granted for storage of compressed gas in cylinders
at a premise as per the Gas Cylinder Rules, 2016 is;

a. 5dy/5 years b.7d%/7years  c. 10@W10years  d.3dW/3 years

Options :


https://applink.adda247.com/d/XhqWf9lSap
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1.a
2.b
3.c
4.d

Question Number : 57 Question Id : 7715134192 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

T § PTG A B R SMuRee Uodl ¥ I gar Fuikd &R @ afd @
A M @ L @el 9l gl

Frequency at which an individual working in a plant is expected to sustain a given level of harm
from specific hazards is called;

a. TLV-TWA b. TLV-STEL
c. oifddd fEH/Individual Risk d. YMelid wifRen/Societal Risk
Options:
1.a
2.b
3.c
4.d

Question Number : 57 Question Id : 7715134192 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

1§ oG A B N SMuReEe Uodl ¥ I giar Heikd &R @ afd @
A SMaR B L @gl 9l 3l

Frequency at which an individual working in a plant is expected to sustain a given level of harm
from specific hazards is called;

a. TLV-TWA b. TLV-STEL
c. oifddd fEH/Individual Risk d. YMelid wifew/Societal Risk
Options :
1.a
2.b
3.C
4.d

Question Number : 58 Question Id : 7715134193 Question Type : MCQ Option Shuffling : No


https://applink.adda247.com/d/XhqWf9lSap
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Correct Marks : 1 Wrong Marks : 0.33000001311302185

AETEA L4000 AFD ..., & U 8/1SO 14000 standards are for the:

a. 7Ol G o
Quality Management system
b. TG WD U W& e Homc
Occupational Health and Safety Management System
c. Ui Vet WU
Environmental Management System
d. fafcasor TREN ele Homl

Radiation Protection Management System

Options :
1.a
2.b
3.c
4.d

Question Number : 58 Question Id : 7715134193 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

METHA 14000 AFD ... ... @ U B/1SO 14000 standards are for the;

a. 70l dee Yo
Quality Management system

b. UGG TR Ul W& YeeH WO
Occupational Health and Safety Management System

c. HiGR Vet oM
Environmental Management System

d. fafewor qRen weis womcit

Radiation Protection Management System

Options :
1.a
2.b
3.cC
4.d

Question Number : 59 Question Id : 7715134194 Question Type : MCQ Option Shuffling : No


https://applink.adda247.com/d/XhqWf9lSap
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Correct Marks : 1 Wrong Marks : 0.33000001311302185
ufdd Wiegs & qud omfy goft ... .. @1 TN $d g¢ WioRia o o 8

Organic Peroxides are represented using the UN Hazard Class;

a: 5 b:5:2 c.6.1 d. 6.2
Options:
1.a
2.b
3.C
4.d

Question Number : 59 Question Id : 7715134194 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

ufdd WRiegs & gud oy 4o ... .. G R A B s | R

Organic Peroxides are represented using the UN Hazard Class;

a. 5.1 b.5.2 c. 6.1 d. 6.2
Options :
1.a
2.b
3.cC
4.d

Question Number : 60 Question Id : 7715134195 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Tl oI 1 T it 0 & R-TR R 1Mt 3 T el g e ¢ | g & ot ot e
g FRfea H P T ik A6 T 87

A fluid flows steadily through a horizontal pipe of varying diameter. Which of the following
18 NOT a conserved quantity across any two sections of the pipe?

2. 5HH/Mass b. Swi/Energy
c. {f&® ¥am/Linear momentum d. 3/ Velocity
Options :

1.a


https://applink.adda247.com/d/XhqWf9lSap
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2.b
3.C
4.d

Question Number : 60 Question Id : 7715134195 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

eI I B T 8ol T30 & IR-TR R TR0 ¥ 0 el JaTg el o1 g0 & foet of G gl &
o e & a1 1o Sl w77

A fluid flows steadily through a horizontal pipe of varying diameter. Which of the following
18 NOT a conserved quantity across any two sections of the pipe?

a. 70/ Mass b. Fwil/Energy
c. 3f&® ¥a/Linear momentum d. d/Velocity
Options :
1.a
2.b
3.c
4.d
Aptitude Test

Partl


https://applink.adda247.com/d/XhqWf9lSap
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Question Number : 61 Question Id : 7715134196 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

9 fa &9 qu § defta @2

To which group does the figure belong?

AA
/¥
A/

. * & @ [ ]
Group A | e%% .’: Q92| e | |

roun s | 0% % o%s 20 | W3

(a) A
(b) B
(c) 9%l A, 9 B/Neither A nor B
(d) Iudad FHI/All of the above

Options:
1.a
2.b
3.c
4.d

Question Number : 61 Question Id : 7715134196 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap
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o o g 7 @ wdftm &2

To which group does the figure belong?

N SUEOY | _.'."'.. .l |
GroupA o% 4% o e 0% mE

Group B '.I "’\, ..' .:. ) ._.

(a) A
(b) B
(c) 9%l A, 7 B/Neither A nor B
(d) IudFd Gi/All of the above

Options :
1.a
2.b
3.c
4.d

Question Number : 62 Question Id : 7715134197 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap
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§dl TREH ¥ §RER S W W il URaA §R1 oAfdadl @ 6 qu-amn o
AeH U TG & P ST0! 90 Id & of 96 4 e Wied # @H a9 W @
Tod, I & foU o9 W T 1 39 e ¥ U W ol ¥ 99 &1 99 ol ©
Wwﬁﬁ@ﬁaaﬂ?ﬁaﬂﬁﬂm%ﬁmaﬁmﬁ

Company Alpha buys free-travel coupons from people who are awarded the coupons by Bravo
Airlines for flying frequently on Bravo airplanes. The coupons are sold to people who pay less for
the coupons than they would pay by purchasing tickets from Bravo. This making of coupons results

in lost revenue for Bravo. To discourage the buying and selling of free travel coupons, it would be
best for Bravo Airlines to restrict the

() TP a9 H cidd I TR PUAl DI GBI
number of coupons that a person can be awarded in a particular year

(b) B R T G T I AN URARG Te@ GRI GO BT ST
use of the coupons to those who were awarded the coupons and members of their
immediate families

() UHAR ¥ EhaR & dld ou oy &7 Iugh foar o Yool &
days that the coupons can be used to Monday through Friday

(d) B IR B & 916 §U Do db IUGN 6T o Fobdl §, 391 A

amount of time that the coupons can be used after they are issued
Options :
1.a
2.b
3.c
4.d

GET IT ON
Google Play

Question Number : 62 Question Id : 7715134197 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0
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§dl TREH ¥ §RER S W W il URaA §R1 oAfdadl @ 6 qu-amn o
AeH U TG & P ST0! 90 Id & of 96 4 e Wied # @H a9 W @
Tod, I & foU o9 W T 1 39 e ¥ U W ol ¥ 99 &1 99 ol ©
Wwﬁﬁ@ﬁaaﬂ?ﬁaﬂﬁﬂm%ﬁmaﬁmﬁ

Company Alpha buys free-travel coupons from people who are awarded the coupons by Bravo
Airlines for flying frequently on Bravo airplanes. The coupons are sold to people who pay less for
the coupons than they would pay by purchasing tickets from Bravo. This making of coupons results

in lost revenue for Bravo. To discourage the buying and selling of free travel coupons, it would be
best for Bravo Airlines to restrict the

() TP a9 H cidd I TR PUAl DI GBI
number of coupons that a person can be awarded in a particular year

(b) B R T G T I AN URARG Te@ GRI GO BT ST
use of the coupons to those who were awarded the coupons and members of their
immediate families

() UHAR ¥ EhaR & dld ou oy &7 Iugh foar o Yool &
days that the coupons can be used to Monday through Friday

(d) B IR $H & dIc §H B9 dd IHGN fbdl 1 Ydhal §, TSI ffY

amount of time that the coupons can be used after they are issued
Options :
1.a
2.b
3.c
4.d

GET IT ON
Google Play

Question Number : 63 Question Id : 7715134198 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0

BRIEF et o 3 G¥H drd 3Ifad Weg &1 989 &Y
Choose the word which best expresses the meaning of the word : BRIEF

(a) Limited
(b)  Small
(c) Little
(d) Short
Options :
1.a

2.b

3.c

4.d
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Question Number : 63 Question Id : 7715134198 Question Type : MCQ Option >nurriing : NO
Correct Marks : 1 Wrong Marks : 0

BRIEF ¥eg @1 Y G d9d Id WWeg &1 909 B3

Choose the word which best expresses the meaning of the word : BRIEF

(a) Limited
(b)  Small
(c) Little
(d) Short
Options :
1.a

2.b

3.c

4.d

Question Number : 64 Question Id : 7715134199 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

30 T T § AU SOl U Wded N UH B G T o ok 35 38
99 60 & o0 o W 4¢ ¥ QU W O g1 driey ¥ od owd, WetH wganh
U] W UD ol § AR Dgal § & Y 5 e Huded & foy sua! Fgraa gyl
3 39 R F F @

You are a paralegal who was given an assignment by your supervisor, and she stressed the task
needs to be completed in the next hour. On the way to your office, the managing partner stops
you in the hallway and tells you he needs your assistance at a deposition in 5 minutes. What would
you do in this situation?

(a) Ve WA @ Yod 2O b Rl U WY Bl o T g a9 g
& 9 A9 @ P TR o

Inform the managing partner that you have been given an urgent assignment and ask
what he would like you to do.
(b) TiE® N U M 3 [ D 3 Uded o fau I )
Perform the task assigned by your supervisor and do not appear at the deposition.
(c) Ve WAl g U/ @ WieR ¥ R Yed W W)
Acknowledge the managing partner's request and appear at the deposition.

(d) vde Ggail @ Yfud B AU W §HT WD gl Bl B Gbd gl

Inform the managing partner that you can only do one job at a time.

Options :
1.a
2.b
3.C
4.d
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Question Number : 64 Question Id : 7715134199 Question Type : MCQ Option >nurriing : NO
Correct Marks : 1 Wrong Marks : 0

30 T AT § quT SO U Wded R UE brd GO o ok 95 %8
9q fomr o & o W@ ©¢ § @ fdw 9 5l dEie ¥ OId d9od, W gant
3UD! T H AP ol § IR Fedl ¢ 16 99 5 e Hydhed & foU ud! Ggrdl gyl
3 39 fufs & @ o

You are a paralegal who was given an assignment by your supervisor, and she stressed the task
needs to be completed in the next hour. On the way to your office, the managing partner stops
you in the hallway and tells you he needs your assistance at a deposition in 5 minutes. What would
you do in this situation?

(a) Ve WA @l Yad o b oURl U WY dr fou T g a3 g
& 9 A9 @ P TR o

Inform the managing partner that you have been given an urgent assignment and ask
what he would like you to do.
(b) WiE® N BT IR 3 W D a1 Uded o U Tl |
Perform the task assigned by your supervisor and do not appear at the deposition.
(c) Ve Wgarll g U 1/ @ WeR ¥ iR Ybed W W)
Acknowledge the managing partner's request and appear at the depasition.

(d) vde Ggail @ Yfad B AU W@ 9N W g B &R Gbd ¢l

Inform the managing partner that you can only do one job at a time.

Options :
1.a
2.b
3.C
4.d

Question Number : 65 Question Id : 7715134200 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap

Addal2i7

31y HibicT H & TP Uad § qul ST B U A e FeiRa g1 onud wdem
3 URaie Al § YA O & [ nwg died & W Q99 A o g au
PRI & YU & Th U¢ Ugel dd dI9d gl AUl 3Ud U GghHl, HibN Wded
P! FURUT BT PGl 381 | & aU M & FYiRd YR @I Ybe § grd gu dF 9e
@ A9G Yiod 9@ o & ol oM 39 RN F @ e

You are part of a marketing team and have an ad campaign due next week. Your supervisor has
taken off at lunch all week to attend to family matters and does not return until one hour before
the end of the workday. One of your colleagues, Marcos, has been taking advantage of the
supervisor being absent and has been taking three-hour lunch breaks, jeopardizing the team's
deadline. What would you do in this situation?

(a) Wo U Fell IR W 9 D a1 D! Sad {6 faRIe eftEH &1 FeiRg
T T B § AR e 98 WY I €¢ @ W Hied 9 o 8, @ a8 ae-
Wi & o &8 & Ide d S 8
Privately talk to Marcos and explain that the ad campaign deadline is next week, and when
he takes three-hour lunch breaks, he jeopardizes the team from meeting their goal.

(b) SUH TEA A & g Tided @ 34 Jage o W
Do not intervene and let the supervisor figure it out.

() W & Afime FuRw 90 ¥ HeR[ 3-Ad YoW aul Afod & Y IW 34,
o for & ufaw & SR dedl & Wl

Send an email to the team regarding campaign deadlines and work ethics so the team can
be more productive in the future.

(d) o &M & Tewl € 9 o0 W ol F @ S9! 3 o o o & gl

Talk to the other team members and see if they feel the same way as you

Options :
1.a
2.b
3.c
4.d

Question Number : 65 Question Id : 7715134200 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap

Addal2i7

31y HibicT H & TP Uad § qul ST B U A e FeiRa g1 onud wdem
3 URaie Al § YA O & [ nwg died & W Q99 A o g au
PRI & YU & Th U¢ Ugel dd dI9d gl AUl 3Ud U GghHl, HibN Wded
P! FURUT BT PGl 381 | & aU M & FYiRd YR @I Ybe § grd gu dF 9e
@ A9G Yiod 9@ o & ol oM 39 RN F @ e

You are part of a marketing team and have an ad campaign due next week. Your supervisor has
taken off at lunch all week to attend to family matters and does not return until one hour before
the end of the workday. One of your colleagues, Marcos, has been taking advantage of the
supervisor being absent and has been taking three-hour lunch breaks, jeopardizing the team's
deadline. What would you do in this situation?

(a) ABY ¥ Al 9 N T 0 U1 9P qaw & e Afme @1 FuiRa
THT A0 TR § R 9 dg U¥ dF 9¢ @1 AW HieH 8 odl ¢, df 95 ae-
s & 39 dW @t Ide § S

Privately talk to Marcos and explain that the ad campaign deadline is next week, and when
he takes three-hour lunch breaks, he jeopardizes the team from meeting their goal.

(b) SUH TEA A & g Tided @ 34 Jage o W
Do not intervene and let the supervisor figure it out.

() W & Afime FuRw 90 ¥ HeR[ 3-Ad YoW aul Afod & Y IW 34,
o for & ufaw & SR dedl & Wl

Send an email to the team regarding campaign deadlines and work ethics so the team can
be more productive in the future.

(d) o &M & Tewl € 9 o0 W ol F @ S9! 3 o o o & gl

Talk to the other team members and see if they feel the same way as you

Options :
1.a
2.b
3.c
4.d

Question Number : 66 Question Id : 7715134201 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

oY o WY (URY) §, a9 Bl @S .......... Bl

Sponge is to porous as rubber is to

(a) YRl/Massive

(b) BIH/Solid

(c) Tdicll/Elastic

(d) D3l/Inflexible

Options :
1.a
2.b


https://applink.adda247.com/d/XhqWf9lSap

Addal247

3.C
4.d

Question Number : 66 Question Id : 7715134201 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

oY W WY (URY) §, a9 Bl WS .......... el

Sponge is to porous as rubber is to

(a) YRl/Massive

(b) BI/Solid

(c) Tdicll/Elastic

(d) D3Sl/Inflexible

Options:
1.a
2.b
3.C
4.d

Question Number : 67 Question Id : 7715134202 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

PH-UT TE Uy g ? & dfowiiig &l 2

Which one will replace the question mark?

44?/?\

(a)
(b)
(c)
(d)

=B o I (N

Options :
1.a
2.b


https://applink.adda247.com/d/XhqWf9lSap

Addal247

3.C
4.d

Question Number : 67 Question Id : 7715134202 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

PH-UI e uy fag ? & ufoifud &30 2

Which one will replace the question mark?

44?/7\

(a) 2
(b) 4
(c) 6
(d) 8

Options:
1.a
2.b
3.C
4.d

Question Number : 68 Question Id : 7715134203 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap

Addal@7

T WA HFSl B UE Y TR, U6 o 99 H g OR ¥ § fba i aH-
O Aned Te 98] @

Three identical candles were lit and covered by individual jars at the same time. Which candle
would have its flame extinguish first?

(a) A, 3ic o fbu IR I ﬁma?ﬂm, candle in a small sealed jar

(b) B, ﬁﬁ et fou ur T WXBJ candle in a big sealed jar

(c) ¢, fosl @ gad Blc oR # W@ ﬂﬁﬂ?ﬂﬂi, candle in a small jar with holes
(d) IR @ Y EE] GIT@ﬂfThey all will extinguish at the same time

Options:
1.a
2.b
3.c
4.d

Question Number : 68 Question Id : 7715134203 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap

Addal@7

T WA HFSl B UE Y TR, U6 o 99 H g OR ¥ § fba i aH-
O Aned Te 98] @

Three identical candles were lit and covered by individual jars at the same time. Which candle
would have its flame extinguish first?

(a) A, 3ic o fbu IR I ﬁma?ﬂm, candle in a small sealed jar

(b) B, ﬁﬁ et fou ur T WXBJ candle in a big sealed jar

(c) ¢, fosl @ gad Blc oR # W@ ﬂﬁﬂ?ﬂﬂi, candle in a small jar with holes
(d) IR @ Y EE] GIT@ﬂfThey all will extinguish at the same time

Options:
1.a
2.b
3.c
4.d

Question Number : 69 Question Id : 7715134204 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap

Addal@7

AR A @ 24 &ld W PR B & 12 @id 81 ¢ MR AT dR 9aaR ol &, o fR B
e TEBR T2

Gear A has 24 teeth, and Gear B has 12 teeth. If Gear A makes four complete turns, how many
turns will Gear B make?

(a) 32
(h) 16
(c) 8
(d) 4

Options :
1.a
2.b
3.c
4.d

Question Number : 69 Question Id : 7715134204 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

FRR A @ 24 &id @ MR B & 12 @id 81 ¢ MR AT dR 99&R ol 8, o fR B
fieH e T

Gear A has 24 teeth, and Gear B has 12 teeth. If Gear A makes four complete turns, how many
turns will Gear B make?

(a) 32
(b) 16
(c) 8
(d) 4

Options:


https://applink.adda247.com/d/XhqWf9lSap

Addal2417

1.a
2.b
3.c
4.d

GET IT ON
Google Play

Question Number : 70 Question Id : 7715134205 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0

IR &1 4R fiost ¥ oA ?:‘,-’Rover weighs less than Fido.

UR T 4R gH P gl %}Rc—ver weighs more than Boomer.

dH ﬁ | @, gHT @I 4R Ted $H %p’thhe three dogs, Boomer weighs the least.
e Ugd & ol BY W ¢, of AW B ... gl

If the first two statements are true, the third statement is

(a) Wel/True

(b) TIcTd/False

(c) HAEd/Uncertain

(d) Iwdad T/Al of the above

Options:
1.a
2.b
3.c
4.d

Question Number : 70 Question Id
Correct Marks : 1 Wrong Marks : 0

: 7715134205 Question Type : MCQ Option Shuffling : No

AR & YR st T oA %}'RD\:’EF weighs less than Fido.

AR & YR gHL ¥ Wil %}Rover weighs more than Boomer.

diH @:‘f b “\EL gHT @I HR Ty oF %,-’thhe three dogs, Boomer weighs the least.
o Ugd & o Y W E, A AW B ... gl

If the first two statements are true, the third statement is

(a) Wol/True

(b) TIcId/False

(c) HfAEd/Uncertain

(d) ST GHi/Al of the above

Options :
1.a
2.b


https://applink.adda247.com/d/XhqWf9lSap

Addal2i7

3.C
4.d

Part Il

Question Number : 71 Question Id : 7715134206 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

15,20, 24, 15,28, 3215, , ,15 901 ¥ faqu =@ oH-4 &2
What are the missing numbers in this series, 15, 20, 24, 15, 28, 32 15, , , 15?7
(a) 37,41
(b) 36,40
(c) 38,42
(d) 40,44

Options :
1.a
2.b
3.c
4.d

Question Number : 71 Question Id : 7715134206 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap

Addal24

7

15,20, 24, 15,28, 3215, , , 15 900 ¥ faqu = oH-4 &2
What are the missing numbers in this series, 15, 20, 24, 15, 28, 32 15, , , 15?7

(a) 37,41
(b) 36,40
(c) 38,42
(d) 40,44

Options :
1.a
2.b
3.C
4.d

GET IT ON
Google Play

Question Number : 72 Question Id : 7715134207 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

DY-/Statements:
gl 971 $B %,J’AII bags are cakes.
gl du oo %IAII lamps are cakes.
ﬁﬁﬁfﬂ:mnclusions:
(i) 7] g &7 %;’Sc:-me lamps are bags.
(ii) aﬁé LEEGL Tel %ENDIamp is bag.

(a) HIE {i}lﬂfﬂ %,-’Dnh,.»r conclusion (i) follows
(b) HMHE {ii}l'\qﬁ %fDI‘Ih_.F conclusion (ii) follows
(c) T (i)dT (i) Wel ©/Either (i) or (ii) follows
(d) @ (i)7 (ii) W8I §/Neither (i) nor (i) follows

Options :
1.a
2.b
3.c
4.d

Question Number : 72 Question Id : 7715134207 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap

Addai247

DY-/Statements:

gt 977 &P iE?z’,ii".ll bags are cakes.
gl a9 o@ %‘IAII lamps are cakes.

B d/Conclusions:

(i)
(ii)

] GUERGU %fSnme lamps are bags.
fﬁg g &1 -_-1T59f %fhlolamp is bag.

(a) HHA {i]lﬂ%pf %,r’Dnh_.r conclusion (i) follows
(b) HIA {ii}l"\':lﬁjf %,J'Dnl\,r conclusion (ii) follows
(c) T ()T (i) Hel ®/Either (i) or (ii) follows
(d) T B ()T (i) TG &/Neither (i) nor (ii) follows

Options:

1.a
2.b
3.c
4.d

GET IT ON
Google Play

Question Number : 73 Question Id : 7715134208 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
-1 o 4ol &1 g D g2

Which figure completes the series?

(a)

(b)

(c)

(d)

S
B e e
s
B

¥



https://applink.adda247.com/d/XhqWf9lSap

Addal@7

Options:
1.a
2.b
3.c
4.d

Question Number : 73 Question Id : 7715134208 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

DH-T1 3 4l & Q@ B 82

Which figure completes the series?

.0
(@) (ﬁﬁ)

B [

il

&

(c)

o [

Options :

1.a
2.b
3.c
4.d

Question Number : 74 Question Id : 7715134209 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap

Addal2i7

frufafea fadeat & ¥ foU et quiescent &1 fadiad co o et &1 9T &%

Choose one of the following options that means the opposite of the word; QUIESCENT

(a) Active
(b) Dormant
(c) Weak

(d) Unconcerned

Options :
1.a
2.b
3.C
4.d

Question Number : 74 Question Id : 7715134209 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fgfafed fadedl # ¥ fGT Teg QUIESCENT &1 Ao &@F a1 et &1 989 &

Choose one of the following options that means the opposite of the word; QUIESCENT

(a) Active
(b) Dormant
(c) Weak

(d) Unconcerned

Options :
1.a
2.b
3.cC
4.d

Question Number : 75 Question Id : 7715134210 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap

Addal@7

o 5w U ¥ ddfia &2

To which group does the figure belong?

A Ny
™
ON
*
O Tiom A
* iy * .
GroupA ‘“m g @mim & aMm*m
AA/S AlLe * o
n (4 (e o/a e
Group B *
ox A B |

(a) A
(b) B
() d8l A J B/Neither AnorB
(d) Iudad Ti/All of the above

Options:
1.a
2.b
3.c
4.d

Question Number : 75 Question Id : 7715134210 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap

Addal@7

o 5w U ¥ ddfia &2

To which group does the figure belong?

A Nvr

™

L .‘

*

A m [ ] A by
% * [
GroupA “m g @mim » A m*m

A ) A|lD® O] ol *

Group B A ol O _ i : %

(a) A
(b) B
() d8l A J B/Neither AnorB
(d) Iudad Ti/All of the above

Options:
1.a
2.b
3.c
4.d

Descriptive


https://applink.adda247.com/d/XhqWf9lSap
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Question Number : 76 Question Id : 7715134211 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5

U@ i wE W A ROl 6 GRA TS TN & U U T 9F ar Qe JHevs!
@ Tl &

List down the safety guidelines to be followed for each activity during different phase of a
construction site.

i. W& &efl/Excavation
ii. s W BRI B/ Working at Height
i, 4R HE 38H Udeh TR/ Heavy lifting activity
iv. dfcST 3 79 e/ Welding and gas Cutting
v. B e YHIGH/Manual material handling

Question Number : 76 Question Id : 7715134211 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5

w5 A0 wg R GfE |0 @ GRA Tde Tk & T e U 9F ae Wam AFaue!
@1 ol &

List down the safety guidelines to be followed for each activity during different phase of a
construction site.

i W& Sel/Excavation
ii. $9R W &M G/ Working at Height
fii, 4R HF I8H Haeh TR/ Heavy lifting activity
iv. dfedT 3R 19 Bie/ Welding and gas Cutting
v. B e YHRH/Manual material handling


https://applink.adda247.com/d/XhqWf9lSap

Addal2i7

Question Number : 77 Question Id : 7715134212 Question Type : SUBJECTIVE Lonsiaer As
Subjective : Yes

Correct Marks : 5

Sdl SARG! H ved fafte YoR &1 o Qe wonierl d-a § aun fd uig @ aR H Wy &
What are the different types of fire protection systems to be provided in a high rise building and
explain about any five?

Question Number : 77 Question Id : 7715134212 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5

Sl ARl # ved fafte YoR @ ol e wonferdl - § Ul foedl oig @ R H Wy @
What are the different types of fire protection systems to be provided in a high rise building and
explain about any five?

Question Number : 78 Question Id : 7715134213 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5

ot WoR & TaiRUi TGN FI-q ¢ 9U e WER & WeNUl @l A & fou el &
R A W R

What are the different types of environmental pollution and explain about the control mechanisms
for each type of pollution?

Question Number : 78 Question Id : 7715134213 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5

foff WoR & TaieRUi TGN FI-d ¢ 9U e WER & WGNUl @l A & fou il &
R A W R

What are the different types of environmental pollution and explain about the control mechanisms
for each type of pollution?

Question Number : 79 Question Id : 7715134214 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5


https://applink.adda247.com/d/XhqWf9lSap
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Wfod foorel Bt IR | Red Goh 31 6w 9 4 410 31 TG DL TY S U1 THA
YAl 7 g8 A & Sul & §R A )

Define static electricity. Name any 4 sources of static electricity and ifs preventive measures in
Industries and process plants.

Question Number : 79 Question Id : 7715134214 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5

dfid faoch ot Rum fod) Do fosiel @1 o 0 4 41 @1 G B qu1 G U1 THHT
WAl H 38 Wb B IuEl d 9 A ql

Define static electricity. Name any 4 sources of static electricity and its preventive measures in
Industries and process plants.

Question Number : 80 Question Id : 7715134215 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5

ymfoes UGl # w4 fogqd Sl & fafi OR & ofdd WA au
0! Tgd & Ok H Wy & |

Explain the various types of ingress protection for instrument and electrical equipment used
in hazardous environments along with ts significance.

Question Number : 80 Question Id : 7715134215 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5

oo oRfetcnl g daf qu fdegd SueNl & foft AR & ddmE e
T WG & o ¥ Wy B |

Explain the various types of ingress protection for instrument and electrical equipment used
in hazardous environments along with its significance.
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